# 1968 Austin Healey Sprite

VIN: HAN9U72644G



2042 W. 1st STREET

Tempe, AZ. 85281

Phone: 480-968-5000

Committed to the preservation of investment grade

INVOICE 11862

Invoice from History

Work Completed:

12/01/2022

Date: 06/25/2024

1968 AUSTIN HEALEY - SPRITE - 4 CYL

Lic#:

Odometer In: 82578

Del Mar, CA 92014

Cellular

VIN#

Part Description / Number	Qty	Sale	Ext	Labor Description	Ext
CLUTCH PRESSURE PLATE 190850	1.00	149.99	149.99	Control of the contro	150.00
ENGINE MOUNT(S)	2.00	15.00	30.00	DIR VALVE COVER INCTALL OF LOOKE CARRIED	
413160				ADJUST IDLE AND ADJUST MIXTURE	150.00
RELEASE BEARING	1.00	38.67	38.67	SET ALL CARBURETOR SETTINGS	
TO1710				NOISE @ CLUTCH AREA	3,150.00
5/8 PILOT BUSHING	1.00	15.00	15.00	VIBRATION IN 4TH SPEED R&R ENGINE / TRANSMISSION ASSEMBLY	
30430			was asset to a con-	SEPARATE COMPONENTS, REPLACE CLUTCH PRESSURE	
VALVE COVER GASKET 296006	1.00	23.64	23.64	PLATE	
OIL FILTER	4.00			R&R FLYWHEEL FOR SUBLET MACHINING REPLACE PILOT BUSHING & RELEASE BEARING	
FL910S	1.00	8.99	8.99	ADD: REPLACE FRONT ENGINE MOUNT(S)	
ENGINE OIL	4.00	6.00	07.00	ADD: CHANGE ENGINE OIL & FILTER ADD: REPLACE EXHAUST HANGER	
2050	4.00	6.99	27.96	FREIGHT	40.00
EXHAUST HANGER	1.00	7.69	7.69	FREIGHT	19.80
C8397			7.00	MACHINE THE FLYWHEEL	95.00
Shop Supplies			15.00	FLYWHEEL RESURFACE	00.00
Hazardous Materials			15.00	11/1 4.0 - ENGINE OUT	
				11/2 3.0 - 68 A/H SPRITE (BLK) 11/16 2.0 - CLUTCH	
				11/18 3.0 - TRANS; CLUTCH	
				11/21 7.0 - ENGINE BACK IN THE CAR	
				11/22 6.5 - ENGINE IN THE CAR 11/29 2.0 - 68 A/H SPRITE (BLK)	
				11/30 3.0 - VALVE COVER GASKET FINISHING PUT TOGETHER	
				FREIGHT	7.70
				FREIGHT / SHIPPING / HANDLING	

Labor: 3,450.00 Parts: Sublet: HazMat:

Current Estimate 3,930.11

122.50 15.00 SubTotal: 3,904.44 Tax: 25.67 Total: 3,930.11

316.94

[ Payments - MasterCard - \$3,930.11 ]

3,930.11

Revisions 0.00

automobiles.

Vehicle Received: 12/1/2022

Customer Number: 1854

I hereby authorize the above repair work to be done along with the necessary material and hereby grant you and/or your employees permission to operate the car or truck herein described on street, highways or elsewhere for the purpose to testing and/or inspection. An express mechanic's lien is hereby acknowledged on above car or truck to secure the amount of repairs thereto. Warranty on parts and labor is one years or 12,000 miles whichever comes first. Warranty work has to be performed in our shop & cannot exceed the original cost of repair.

Signature

Org. Estimate

Date

Visit us on the web:

www.sccarcenter.com

Email Address: joeritz@sccarcenter.com

Bal Due:

2042 W. 1st STREET

Tempe, AZ. 85281

Committed to the preservation of investment grade

Phone: 480-968-5000

11587

INVOICE

## **Invoice from History**

Work Completed :

04/29/2022

Date: 06/25/2024

1968 AUSTIN HEALEY - SPRITE - 4 CYL

Lic#:

Odometer In: 80485

Del Mar, CA 92014

Cellular

VIN#:

Part Description / Number	Qty	Sale	Ext	Labor Description	
FUEL FILTER 33032	1.00	10.68	10.68		900.00
VALVE COVER GASKET 296005	1.00	5.00	5.00		4,800.00
DISTANCE PIECE 460115	2.00	3.00	6.00	INCLUDES REMOVE ENGINE FIT ACCESSORY TRANSMISSION CONVERSION	
VALVE COVER BUSHING 460120	2.00	1.50	3.00	INSTALL NISSAN 5 SPEED WITH KIT REPLACE CLUTCH COMPONENTS R&R FLYWHEEL FOR SUBLET MACHINING	
WASHER 460130	2.00	1.55	3.10	REPLACE REAR SEAL & LOWER END GASKETS MAKE ALL NECESSARY CLUTCH ADJUSTMENTS	
OIL FILTER BE8Z 6731-AB	1.00	6.82	6.82	CHECK THE ENGINE TUNE, CHECK & ADJUST VALVES, CHECK CARB ADJUSTMENTS, CHANGE ENGINE OIL & FILTER, LUBE CHASSIS, CHECK ALL	900.00
GEAR OIL 8090	1.00	12.99	12.99	FLUID LEVELS, CHECK TIRES & PRESSURES ADD: PERFORM SAFETY NUT & BOLT CHECK FOR RALLY ADD: REPLACE FUEL FILTER	
SPARK PLUG 7900	4.00	4.95	19.80	ADD: REPLACE ENGINE OIL DIPSTICK TUBE ADD: REPLACE SPARK PLUGS	
CASTROL ENGINE OIL 2050	4.00	7.00	28.00	ADD: REPLACE MANIFOLD GASKET 0329 5.0 - 68 A/H SPRITE (BLK) 0406 8.0 - 68 A/H SPRITE (BLK)	
210 TRANSMISSION REBUILD KIT BK173WS	1.00	289.00	289.00	0407 3.0 - 68 A/H SPRITE (BLK) 0411 1.0 - 68 A/H SPRITE (BLK) 0425 8.0 - 68 A/H SPRITE (BLK)	
GASKET SET, LOWER ENGINE 296-682	1.00	15.99	15.99	0426 8.0 - 68 A/H SPRITE (BLK) 0427 8.0 - 68 A/H SPRITE (BLK)	
SEAL, SUMP, REAR, NEOPRENE 297-645	1.00	12.99	12.99	0428 8.0 - 68 A/H SPRITE (BLK) TOTAL HOURS = 49	
SEAL, SUMP, FRONT, CORK 297-640	2.00	8.69	17.38		308.00
MANIFOLD GASKET 296630	1.00	5.00	5.00	FREIGHT / SHIPPING / HANDLING	19.80
CLUTCH KIT 190-986	1.00	169.00	169.00	RESURFACE FLYWHEEL & PINS RESURFACE FLYWHEEL & PINS	89.00
TUBE, DIP STICK 451-430	1.00	4.99	4.99	REPAIR / REFURBISH GEAR SHAFT REPAIR / REFURBISH INTERNAL TRANSMISSION GEAR / SHAFT	325.00
Shop Supplies Hazardous Materials			15.00 15.00	[ Discount ] 10.00% off labor	

2042 W. 1st STREET

Tempe, AZ. 85281

Phone: 480-968-5000

Committed to the preservation of investment grade

INVOICE

11587

**Invoice from History** 

Work Completed:

04/29/2022

Date: 06/25/2024

SUPPA, STEVE

13696 RUETTE LE PARC UNIT E

1968 AUSTIN HEALEY - SPRITE - 4 CYL Lic #:

Odometer In: 80485

Del Mar, CA 92014

Cellular 951-375-6579 -- Home 602-550-7351

VIN#:

Part Description

/ Number

Qty

Sale

Ext Labor Description

Ext

Org. Estimate 7,297.96 Revisions 0.00 Current Estimate 7,297,96 Labor: 5,700.00 Parts: 624.74 Sublet: 1,641.80 HazMat: 15.00 Discount: -734.18 SubTotal: 7,247.36 Tax: 50.60 Total: 7,297.96 [ Payments - MasterCard - \$7,297.96 ] Bal Due:

Vehicle Received: 4/29/2022

automobiles.

I hereby authorize the above repair work to be done along with the necessary material and hereby grant you and/or your employees permission to operate the car or truck herein described on street, highways or elsewhere for the purpose to testing and/or inspection. An express mechanic's lien is hereby acknowledged on above car or truck to secure the amount of repairs thereto. Warranty on parts and labor is one years or 12,000 miles whichever comes first. Warranty work has to be performed in our shop & cannot exceed the

original cost of repair.

Date

Visit us on the web:

Signature

www.sccarcenter.com

Email Address: joeritz@sccarcenter.com

Customer Number: 1854

2042 W. 1st STREET

Tempe, AZ. 85281

Phone: 480-968-5000

Committed to the preservation of investment grade

INVOICE

10830

**Invoice from History** 

Work Completed:

08/04/2021

Date: 06/25/2024

1968 AUSTIN HEALEY - SPRITE - 4 CYL

Lic#:

Odometer In: 79173

Del Mar, CA 92014

Cellular §

-- Home

VIN#

	Home				VIN#:	
Part Description	/ Number	Qty	Sale	Ext	Labor Description	Ext
FLUID DOT4		1.00	6.00	6.00	CHECK & REPAIR BRAKES NO PEDAL IDENTIFY FAILED BRAKE MASTER CYLINDER	490.00
BRAKE MASTER CY 180-345	LINDER	1.00	177.00	177.00	DOD CYLINDED ACCENDING EUL & EL	
Shop Supplies Hazardous Materia	als			15.00 15.00	FREIGHT OVERNIGHT FREIGHT	62.70

Org. Estimate 781.74 Revisions 0.00 Current Estimate 781.74

Labor: 490.00
Parts: 198.00
Sublet: 62.70
HazMat: 15.00

SubTotal: Tax:

Bal Due:

Total:

765.70 16.04 781.74

\$0.00

automobiles.

Vehicle Received: 8/4/2021

[ Payments - MasterCard - \$781.74 ]

Customer Number: 1854

I hereby authorize the above repair work to be done along with the necessary material and hereby grant you and/or your employees permission to operate the car or truck herein described on street, highways or elsewhere for the purpose to testing and/or inspection. An express mechanic's lien is hereby acknowledged on above car or truck to secure the amount of repairs thereto. Warranty on parts and labor is one years or 12,000 miles whichever comes first. Warranty work has to be performed in our shop & cannot exceed the original cost of repair.

Signature \_\_\_

\_ Date

Visit us on the web: www.sccarcenter.com

2042 W. 1st STREET

Tempe, AZ. 85281

Phone: 480-968-5000

Committed to the preservation of investment grade

INVOICE 10960

Invoice	from	History
---------	------	---------

Work Completed:

03/26/2021

Date: 06/25/2024

1968 AUSTIN HEALEY - SPRITE - 4 CYL

Lic#:

Odometer In: 79040

Del Mar, CA 92014

Cellular

VIN# ·

CONTROL OF THE PERSON OF THE P					VIIN#.	
Part Description	/ Number	Qty	Sale	Ext	Labor Description	
20w50 ENGINE OIL 194706		4.00	6.99	27.96	REPAIR OIL LEAK @ DRAIN PLUG CHANGE ENGINE OIL	130.00
OIL DRAIN PLUG		1.00	4.50	4.50	ADD: PEDI ACE ENCINE OU DRAIN BLUG	
09030 Shop Supplies				15.00	REPLACE REAR SHOCKS (WARRANTY) DEFECTIVE PARTS	n/c
Hazardous Materials				13.00	TEST DRIVE AND INSPECT FOR CLUNKING NOISE HEARD WHEN TURNING LEFT ALSO INSPECT FOR DRIVELINE AREA CLUNK NO LABOR CHARGE	n/c

Org. Estimate 194.30 Revisions 0.00 Current Estimate 194.30 Labor:

130.00 Parts: 47.46

SubTotal: Tax:

Total:

Bal Due:

HazMat:

194.30 \$0.00

13.00

190.46

3.84

[ Payments - American Express - \$194.30]

automobiles.

Vehicle Received: 3/26/2021

Customer Number: 1854

I hereby authorize the above repair work to be done along with the necessary material and hereby grant you and/or your employees permission to operate the car or truck herein described on street, highways or elsewhere for the purpose to testing and/or inspection. An express mechanic's lien is hereby acknowledged on above car or truck to secure the amount of repairs thereto. Warranty on parts and labor is one years or 12,000 miles whichever comes first. Warranty work has to be performed in our shop & cannot exceed the original cost of repair.

Signature

Date

Visit us on the web: www.sccarcenter.com

2042 W. 1st STREET

Tempe, AZ. 85281

Phone: 480-968-5000

Committed to the preservation of investment grade

INVOICE 10701

Invoice	from	History
---------	------	---------

Work Completed:

12/09/2020

Date: 06/25/2024

1968 AUSTIN HEALEY - SPRITE - 4 CYL

Lic#:

Odometer In: 78000

Del Mar, CA 92014

Cellular				VIN#:	
Part Description / Number	Qty	Sale	Ext	Labor Description	
OIL FILTER 3330	1.00	7.99	7.99	CHECK ENGINE OIL LEAK @ FRONT OF CAR	Ext n/c
CAP, OIL FILLER 460-125	1.00	13.03	13.03	NEI LAGE VALVE COVER	n/c 210.00
GASKET, VALVE COVER 694-100	1.00	5.30	5.30	TORQUE CYLINDER HEAD ADJUST VALVES PAINT & INSTALL VALVE COVER	
ENGINE OIL 03806	4.00	6.00	24.00	CHANGE ENGINE OIL & FILTER	70.00
V/C BUSH 460-120	2.00	1.25	2.50	REPAIR HEATER BLOCK OFF	n/c
V/C GSKT-MGM 296-005	1.00	8.00	8.00	(NO CHARGE) SAFETY CHECK WHEEL TIGHTNESS	n/c
T/C GASKET 296-510	1.00	0.00	n/c	(NO CHARGE)	
T/C SEAL 120-000	1.00	0.00	n/c		
Shop Supplies Hazardous Materials			7.50 6.95		
			7		

Org. Estimate 360.80	Revisions 0.00	Current Estimate 360.80	Labor:	280.00
			Parts:	68.32
			HazMat:	6.95
			SubTotal:	355.27
			Tax:	5.53
			Total:	360.80
[ Payments - MasterCard - \$360,80 ]		,	Bal Due:	\$0.00
		automobiles.		

Vehicle Received: 12/9/2020

Customer Number: 1854

I hereby authorize the above repair work to be done along with the necessary material and hereby grant you and/or your employees permission to operate the car or truck herein described on street, highways or elsewhere for the purpose to testing and/or inspection. An express mechanic's lien is hereby acknowledged on above car or truck to secure the amount of repairs thereto. Warranty on parts and labor is one years or 12,000 miles whichever comes first. Warranty work has to be performed in our shop & cannot exceed the original cost of repair.

Current Estimate 360.80

Signature

Org. Estimate

Date

Visit us on the web: www.sccarcenter.com

360.80

Revisions 0.00

2042 W. 1st STREET

Tempe, AZ. 85281

Phone: 480-968-5000

Committed to the preservation of investment grade

INVOICE 10815

**Invoice from History** 

Work Completed:

12/29/2020

Date: 06/25/2024

1968 AUSTIN HEALEY - SPRITE - 4 CYL

Lic#:

Odometer In: 78343

Del Mar, CA 92014

Cellular

- Hom

= Hol	II			VIN#:	
Part Description / Number	Qty	Sale	Ext	Labor Description	Ext
SEPARATOR TANK AIR/OIL	4.00	100.00		The state of the s	LAL
	1.00	189.00	189.00	CHECK & REPAIR OIL ISSUES	280.00
MOR-85474				INSTALL PERFORMANCE DUAL PCV VALVE	200.00
DUAL FLOW PCV VALVE	1.00	150.00	450.00	INICTALL MODOCO OU OFFICE	
DF-17	1.00	159.00	159.00	ROAD TEST	
			-		
Shop Supplies			7.50	FUEL	20.00
Hazardous Materials			and the second	I FUEL	20.00
riazardods Materiais			6.95		
				FREIGHT	30.00
				FREIGHT SHIPPING & HANDLING	00.00

Org. Estimate 721.25 Revisions 0.00 Current Estimate 721.25

Labor: 280.00 Parts: 355.50 Sublet: 50.00 HazMat: 6.95 SubTotal: 692.45 Tax: 28.80

[ Payments - MasterCard - \$721.25 ]

automobiles.

Vehicle Received: 12/29/2020

Customer Number: 1854

721.25

\$0.00

I hereby authorize the above repair work to be done along with the necessary material and hereby grant you and/or your employees permission to operate the car or truck herein described on street, highways or elsewhere for the purpose to testing and/or inspection. An express mechanic's lien is hereby acknowledged on above car or truck to secure the amount of repairs thereto. Warranty on parts and labor is one years or 12,000 miles whichever comes first. Warranty work has to be performed in our shop & cannot exceed the original cost of repair.

Signature

Date

Visit us on the web: www.sccarcenter.com Email Address: joeritz@sccarcenter.com

Total:

**Bal Due:** 

2042 W. 1st STREET Tempe, AZ. 85281

Committed to the preservation of investment grade

INVOICE 10614

Phone: 480-968-5000

10/23/2020

Date: 06/25/2024

Work Completed: 1968 AUSTIN HEALEY - SPRITE - 4 CYL

Lic#:

Odometer In: 76701

Del Mar, CA 92014

**Invoice from History** 

Cellular §

Cellular §	1			VIN#:	
Part Description / Number	Qty	Sale	Ext	Labor Description	
ENGINE OIL 242	4.00	5.99	23.96	ASSESS INTERNAL ENGINE CONDITION, PERFORM	6,300.00
ENGINE COOLANT				LEAK DOWN TEST	5,000.00
243	1.00	14.00	14.00	BILLED HOURS 63.0	
RIBCASE GEARBOX FRONT COVER W/ SEAL C-22G118	1.00	118.00	118.00	MACHINE SHOP MACHINE SHOP SHIPPING	1,500.00
CABLE SPEEDO MORRIS & SPRITE 48" SPD111	1.00	24.00	24.00	SHIPPING	45.00
KEY WOODRUFF					
327-210	1.00	10.00	10.00		
LOCKTAB CAM SPROCKET NUT	2.00	2.00	4.00		
460-550	2.00	2.00	4.00		
SPRITE MARK 1 AND 2 COCKPIT INTAKE AIR SNORKEL KIT INTAKEAIRSNKL	1.00	129.00	129.00		
SPRITE MIDGET OIL COOLER KIT  OILCOOLERKIT	1.00	299.00	299.00		
THERMOSTAT 10190925	1.00	11.00	11.00		
6061 BAR PRE-CUT	2.80	5.00	14.00		
OIL FILTER 25011520	1.00	7.99	7.99		
CAM BEARING SET 1275 CSB609	1.00	15.00	15.00		
CLUTCH DISC 6 1/2 INCH HB6942	1.00	110.00	110.00		
VALVE SPRING SET A-SERIES 1275 VS635K	1.00	24.00	24.00		
BEARINGS TRI-METAL HD MAINS 020	1.00	40.00	40.00		
CB91120.020					
MONZA EXHAUST HEADER 70-1042	1.00	179.00	179.00		
HEAD GASKET 1275 PAYEN  AF460P	1.00	24.00	24.00		
OIL PRESSURE RELEASE VALVE  OPR702	1.00	3.67	3.67		
PISTON SET 060 CP725.060	1.00	175.00	175.00		
BEARING TRI-METAL HD CONNECTING ROD	1.00	40.00	40.00		
Visit us on the web			1		

2042 W. 1st STREET Tempe, AZ. 85281

Committed to the preservation of investment grade

Phone: 480-968-5000

Work Completed:

10/23/2020

Date: 06/25/2024

1968 AUSTIN HEALEY - SPRITE - 4 CYL

Lic#:

Odometer In: 76701

INVOICE

10614

Del Mar, CA 92014

**Invoice from History** 

Cellular

VIN#:

Part Description	/ Number	Qty	Sale	Ext	Labor Description	THE PROPERTY HOLDS	
CB572.010	The state of the s	A COLUMN A PARTITION OF THE PARTITION OF	The County of th	And the same of th		in the 195 Post feet for	Ext
THRUST WASHER S W2136.STD	ET	1.00	12.00	12.00			
LOWER GASKET SE A-SERIES EF460L	TLUCAS	1.00	24.00	24.00			
CAMSHAFT PERFOR DRILLER AND CROS A-SERIES 1275 CAM6648PH2	RMANCE RIFLE S DRILLED	1.00	325.00	325.00			
VALVE STEM SEAL P A-SERIES ADU4905	OSITIVE	8.00	0.50	4.00			
CONNECTING ROD N AEG147	NUT	8.00	9.20	73.60			
WOODRUFF 5/8 D X5	/32	1.00	1.92	1.92			
CRANK PULLEY LOCI	K TAB	1.00	1.79	1.79			
CYLINDER HEAD NUT FLANGED 51K1193B	Γ HD	9.00	6.21	55.89			
HEAD SET A-SERIES  CF473		1.00	21.30	21.30			
OIL PRESSURE SPRIN BN2 OPS75	NG BN1 TO	1.00	2.44	2.44			
OIL PUMP A+ SLOT DF CO816	RIVE 1275	1.00	61.23	61.23			
TAPPET MINI CF331		8.00	5.75	46.00			
REAR W/SEAL 120-030		1.00	6.99	6.99			
R/WHEEL BRG 125-120		1.00	22.00	22.00			
HUB GASKET 296-030		1.00	2.00	2.00			
O-RING 121-410		1.00	3.00	3.00			
VALVE GUIDE SET BRO TMG10819	ONZE	8.00	6.00	48.00			
TIMING CHAIN SET DU VENIER TMG107281	IAL ROW	1.00	159.99	159.99			
Shop Supplies				7.50			
/isit us on the web: www	.sccarcenter.com						

Visit us on the web: www.sccarcenter.com

2042 W. 1st STREET

Tempe, AZ. 85281

Phone: 480-968-5000

INVOICE 10614

Invoice from History SUPPA, STEVE			Work Completed :	10/23/2020	Date: 06/25/20
13696 RUETTE LE PARC UNIT E			1968 AUSTIN HEALEY - SPRI	TE - 4 CYL	
Del Mar, CA 92014			Lic#:	Odor	meter In: 767
	0-7351		VIN#:		
Part Description / Number	Qty Sale	Ext l	_abor Description		
Hazardous Materials		6.95	And the control of the state of	A CONTRACTOR OF THE STATE OF TH	Children This work and State Co.
*					
g. Estimate 10,169.91 Revisions 0.00	Current Estima	te 10 169 9			
AND THE PROPERTY OF THE PROPER	CTARLE BAS SATISFIED CALLED SALES	10,109.9		Labor:	6,300.00
				Parts:	2,144.27
				Sublet:	1,545.00
	*			HazMat:	6.95
				SubTetal:	0.000
				SubTotal: Tax:	9,996.22
				Total:	173.69 10,169.91
ayments - MasterCard - \$10,169.91 ]				Bal Due:	\$0.00
nicle Penniuse + 40/00/penn		automobile	es.		40.00
nicle Received: 10/23/2020				Custom te the car or truck herein	er Number : 1854

Signature

Visit us on the web: www.sccarcenter.com

Email Address: joeritz@sccarcenter.com

Date

2042 W. 1st STREET

Tempe, AZ. 85281

Phone: 480-968-5000

Committed to the preservation of investment grade

10556

INVOICE

**Invoice from History** 

Work Completed:

08/21/2020

Date: 06/25/2024

1968 AUSTIN HEALEY - SPRITE - 4 CYL

Lic#:

Odometer In: 76700

Del Mar, CA 92014

Cellula

VIN#:

Part Description / Number	Qty	Sale	Ext	Labor Description	
CARB REBUILD KIT 2 CARBS 375-410	1.00	149.00	149.00	The second secon	150.00
155/80R13 79T KUMHO SOLUS TA11 BW A/S	1.00	70.00	70.00	REDIACE 1 DAMACED TIPE	
2182463 INTAKE MANIFOLD GASKET 296630	1.00	7.99	7.99	EXHAUST HEAD PIPE COMING APART THE MOUNTING FAILED AT THE FLANGE REPLACE EXHAUST HEAD PIPE MANIFOLD TO MUFFLER	100.00
HEAT SHIELD  USEDHEAT	1.00	40.00	40.00	INSTALL O.E. CARBS & MANIFOLD REBUILD CARBS	500.00
AIR FILTER 950760	2.00	10.00	20.00	BENCH OVERHAUL USED CARB SET CLEAN INTAKE & COMPONENTS, INSTALL WITH HEAT SHIELD, MAKE ALL NEEDED ADJSUTMENTS	
EXHAUST HEAD PIPE 444-240	1.00	89.99	89.99	ADD: CHECK REAR SUSPENSION LINKS THEY LOOK DIFFERENT SIDE TO SIDE	n/c
PCV VALVE 360-630	1.00	102.48	102.48	(NO LABOR CHARGE) USED CARBS	250.00
Shop Supplies Hazardous Materials			7.50 6.95	CARBS / MANIFOLD / AIR CLEANER ASSEMBLY	

Labor.	750.00
Parts:	486.96
Sublet:	250.00
HazMat:	6.95
SubTotal:	1,493.91
Tav.	20.44

Current Estimate 1,533.35

[ Payments - MasterCard - \$1,533.35 ]

1,533.35

Revisions 0.00

automobiles.

Vehicle Received: 8/21/2020

Customer Number: 1854

1,533.35

\$0.00

I hereby authorize the above repair work to be done along with the necessary material and hereby grant you and/or your employees permission to operate the car or truck herein described on street, highways or elsewhere for the purpose to testing and/or inspection. An express mechanic's lien is hereby acknowledged on above car or truck to secure the amount of repairs thereto. Warranty on parts and labor is one years or 12,000 miles whichever comes first. Warranty work has to be performed in our shop & cannot exceed the original cost of repair.

Signature .

Org. Estimate

Date

Visit us on the web: www.sccarcenter.com

Email Address: joeritz@sccarcenter.com

Total:

Bal Due:

2042 W. 1st STREET

Tempe, AZ. 85281

Phone: 480-968-5000

Committed to the preservation of investment grade

10595

Invoice	from	History
---------	------	---------

Work Completed:

08/28/2020

Date: 06/25/2024

1968 AUSTIN HEALEY - SPRITE - 4 CYL

Lic#:

Odometer In: 76700

Del Mar, CA 92014

Cellular

VIN#:

Part Description /		NAME OF THE PARTY	vara ellenterana i	A CALLEY CONTROL	VIIN#.	
The state of the s	Number	Qty	Sale	Ext	Labor Description	Ext
Shop Supplies Hazardous Materials				7.50 6.95	CHECK EXCESSIVE OIL SPRAYING ON ENGINE. CHECK PVC SYSTEM PRESSURE TEST SYSTEM, R&R VALVE COVER AND INSPECT, NOTE THAT VALVE COVER IS NOT BAFFLED FAB & FIT INTERNAL BAFFLING REINSTALL COVER AND TEST	350.00

Org. Estimate 365.06 Revisions 0.00 Current Estimate 365.06

 Labor:
 350.00

 Parts:
 7.50

 HazMat:
 6.95

 SubTotal:
 364.45

 Tax:
 0.61

 Total:
 365.06

 Bal Due:
 \$0.00

automobiles.

Vehicle Received: 8/28/2020

[ Payments - Visa - \$365.06 ]

Customer Number: 1854

I hereby authorize the above repair work to be done along with the necessary material and hereby grant you and/or your employees permission to operate the car or truck herein described on street, highways or elsewhere for the purpose to testing and/or inspection. An express mechanic's lien is hereby acknowledged on above car or truck to secure the amount of repairs thereto. Warranty on parts and labor is one years or 12,000 miles whichever comes first. Warranty work has to be performed in our shop & cannot exceed the original cost of repair.

Signature

Date

Visit us on the web: www.s

www.sccarcenter.com

2042 W. 1st STREET

Tempe, AZ. 85281

Phone: 480-968-5000

Committed to the preservation of investment grade

INVOICE

10490

**Invoice from History** 

E

Work Completed :

07/24/2020

Date: 06/25/2024

...

1968 AUSTIN HEALEY - SPRITE - 4 CYL Lic #:

Odometer In: 76600

Del Mar, CA 92014

Cellular

VIN#:

Part Description / Number  Shock Lever Front R/H  264-000  Shock Lever Front L/H  264-005	<b>Qty</b> 1.00	<b>Sale</b> 225.00	Ext 225.00	Labor Description	Ext
264-000 Shock Lever Front L/H	1.00	225.00	225.00	INCDECT A CUETAMAN	
				INSPECT & OVERHAUL FRONT & REAR SUSPENSION	2,300.00
	1.00	225.00	225.00	REPLACE BUSHINGS & COMPONENTS REPLACE (4) SHOCKS ADD: REPLACE FRONT BRAKE ROTORS	
Suspension Kit 264-088	1.00	199.00	199.00	ADD: R&R REAR END ASSEMBLY FOR RE GEAR ADD: REPLACE REAR BRAKES SHOES / DRAIN, FLUSH, FILL &	
Link Shock Absorber 265-450	2.00	16.00	32.00	RING AND PINION SET UP	350.00
Shock Lever Rear L/H 265-430	1.00	199.00	199.00	RING AND PINION INSTALL & SET UP	
Shock Lever Rear R/H 265-440	1.00	199.00	199.00		
Bush Eye of Rear Spring 680-960	2.00	8.00	16.00		
NYLON REAR LIMIT STRAPS 267-566	1.00	40.00	40.00		
PINION SEAL 120-800	1.00	6.00	6.00		
CROWN WHEEL & PINION 265-	1.00	650.00	650.00		
brake boot (rear) 94256	2.00	9.75	19.50		
BRAKE ROTOR (FRONT) 182-146	2.00	32.00	64.00		
SPRING BSH 26-47082	1.00	30.00	30.00		
O-RING 121-410	2.00	3.25	6.50		
RR MNTG PAD 280-900	4.00	4.00	16.00		
HUB GASKET 296-030	2.00	2.00	4.00		
BRAKE SHOE SET, REAR 182-175	1.00	21.00	21.00		
GEAR OIL 8090	2.00	8.00	16.00		
Shop Supplies			7.50		
Hazardous Materials			6.95		
			0.00		

2042 W. 1st STREET

Tempe, AZ. 85281

Phone: 480-968-5000

Committed to the preservation of investment grade

10490

Invoice from	History						
The state of the s					Work Completed :	07/24/2020	Date: 06/25/2024
					1968 AUSTIN HEALEY - SPRIT	E - 4 CYL	
Del Mar, CA 920	14				Lic#:		Odometer In: 76600
Cellular		j.	The same of the sa		VIN#:		
Part Description	/ Number	Qty	Sale	Ext	Labor Description	The state of the s	Ext
					the state of the s	THE RESERVE OF THE PROPERTY OF THE PARTY OF	AND STREET, THE PARTY OF THE STREET, THE S

Org. Estimate 4,792.47	Revisions 0.00 Current Estimate 4,792.47	printer	
- P		Labor:	2,300.00
		Parts:	1,975.50
		Sublet:	350.00
		HazMat:	6.95
		SubTotal:	4 620 45
			4,632.45
		Tax:	160.02
		Total:	4,792.47
[ Payments - MasterCard - \$4,792,47 ]		Bal Due:	\$0.00

Customer Number : 1854

I hereby authorize the above repair work to be done along with the necessary material and hereby grant you and/or your employees permission to operate the car or truck herein described on street, highways or elsewhere for the purpose to testing and/or inspection. An express mechanic's lien is hereby acknowledged on above car or truck to secure the amount of repairs thereto. Warranty on parts and labor is one years or 12,000 miles whichever comes first. Warranty work has to be performed in our shop & cannot exceed the

Signature	Date